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BASIC THERMODYNAMI
Paper : ME 301
Full Marks : 100

Time : Three hours

The figures in the margin indicate
Sull marks for the questions.

Answer any five questions.

1. (a) Define : isothermal, isobaric, isochoric
processes. 5

() What are the parameters needed to be
specified to define a thermodynamic
system ? 4

(0 A system can be characterized by
specifying P, V and T. Are they
independent of one another ? 3

(d) Distinguish between intensive and

extensive properties of a system.
3

Contd.
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A vessel having a volume of 0-6m3
contains 3kg of liquid water and water
vapour mixture in equilibrium at a
pressure of 0-5MPa.

Calculate :

() Mass and volume of liquid
(i) Mass and volume of vapour.

10
Define heat engine, refrigerator and
heat pump. 5
What is the perpetual motion machine
of the second kind ? 3
State the limitations of First law of
thermodynamics. 3
Describe the working of a Rénkine
cycle. 9

Compare external combustion and
internal combustion engine. 5

What are the important basic
components of an IC engine ? Explain
them briefly. 8

Write short notes on : . 3:5%x2=7
() Thermodynamic equilibrium
(i) Pressure measuring instru




